


 
 

29. Wonderful selection!! 
30. Interesting data. 
31. Units on y-axes would be helpful 

STUDENT ENGAGEMENT: JOHN PEREZ 

1. We need to be having these workshops on a much more regular basis. Everyone benefits when 
faculty share best practices. 

2. Always helpful! Will contact again. 
3. Bravo! 
4. I’m definitely going to try some of their tips for student engagement. 
5. I would have liked more detail on the strategies presented but here was not enough time. 
6. Great presentation. All faculty should hear this talk. 
7. 



 
 

2. The speaker outlined her assignments and online infrastructure at a level that was beyond what 
I could comprehend. In the future IT/Tech demos should be subdivided by levels of IT 
understanding which will allow for an enriched professional development. 

3. Trying to figure out how I could apply this in my class. It was very insightful and I hope to be able 
to use this. 

4. I definitely want to build a Google doc for my PE course. 
5. This was a good presentation, but would be hard to implement in my classes which are not so 

easily adaptable for theses Google files. 
6. Almost irrelevant considering other LMS platforms. 
7. Not going to be using Google apps. 
8. Instructor assumed a lot of previous familiarity with Google docs, etc. 
9. I got lost because I had no experience with the tools. I thought there was going to be more 



 
 
IT RESOURCES/ASTRA: LAURA LARK & BELEN GONZALES 

1. Computers in library were extremely slow. I am glad we have follow-up opportunities. 
2. WI-FI is slow in A-113. 
3. The presenters did very well as they dealt with the majority of the chaos being unable to follow 

along on their laptops due to poor WI-FI. 
4. Great information on utilizing computers. My only issue was my proxy server failed on the 

laptop computer. 
 

STEPS TO SUCCESS: DR. MARK SANCHEZ 
 

1. Probably not the best for me but well done! 
2. Good to know more about the multiple measures for placement test. 
3. Sanchez = very bright. 
4. Very good presentation to understand the process. 

 

TO TEST OR NOT TO TEST: JANET FLORES & JOHN PEREZ 
 

1. Picked up some nice tricks! Thank you. More canvas. 
2. I would -8(o)-1(e)-3(ro)-fl(c)-5(21(e)-6( y)35( y)3(o)-10(u)d(6(LO) y)35( y) fl(c)-5(21(e)-6( y)35( y)3(ogF. p)2(r)11(o)-7(x)8(y)-4( s)-1(e)-3(r)11(v)-6(e)-3(r)11( faile)8(1(r)17( )]TJ
0.002 Tc -0.002 Tw 14.109 0 Td
[(W)(e)(o)-10(u)d(6(LO) y)35( y) fl(c)-5a0 TcuJ
0 Tl35( y)3(ogF. p)2(r)11(o)-7()Tj-3()10( m)d
( )Tj>./LBody <</(2-5(21 7.772e (1(r)17i4( sgF. p)2(r)11(o)-t Tf
11.046TcTf
11.046TcTf
11.046TcTf
11.046TcTf
11.046TcTf
11.046TcTf
11.046TcTf
11.046TcTf 72 544.68 Tm
[(ST)-8(E)-5(P)-1(S-8(E)-5(P) 0.8Tf
0 Tc 0.)-1(S-87T9tTf 77-a)-t Tf
11.046TE)3(S)8(T)10 Td
( )TjCID 47p.i26 )l11.046TcTf
11.046TcTf
11.046TcTf
11.046TcTf
11.046TcTf 72 544.68 Tm
[1(o)1(t)-0 Td02 723r2 Tf
I)-)17( )]TJ
)17(1.046Tt4(E)-5(s11(7Tm
[1.046TcTI3.1(u)-1(n)-1(d)-1(e)-6(r)-3(s)-4(t5 >>BDC 
0.004 Tc -0.004 Tw -1 43 >dBDC 
0.0
(4en)5(t ( s)-1(e)-3(D 47p.i/TT2 1 Hnw -22.91.LO) y)35( y) fl(c)-5daw -22.91.LO>BDa3(r)11( f1( f1( fR85(P)-1(S-8(E)-5(P) 0.8Tf
0 Tc 0i3(i)-3(k3004 Tc f13i0 Tc 0 Tw 0.73S-83G-1(r)-3(i)Tj
/TT5 p)2(r)11(o)(s)641>>BDC 
0.004 Tc -0.004 Tw -1 43 > p)-1(r)8(o)-10(c)-5(e)-6(s)7(2.27(.)]TJ
0 Tc 0 Tw 20.674 0 Td
( )Tj
EMC 
/P <</MCID 38 >>BDC 
-20.674 -11( y)3(og3. p)2(r)11(o)-7()T-0 likID 39 >Body2 544.38 T 39 8(Eid) 39 >Boas8( N)4)-5(s11(7Tm
[1-4(
/TT0 1 T–8 >>05 >>BDC 
0.00474 -11( y)3(og3. p)2(21)11(o)-7(v p)2(r)(P) 300yf 77-ap) 3p) 3l 300icID 3ab) 3l(r)(P!8( N)-3(ea)3(s)2(u)56.73 >>BDC 
0.004 Tc -0.004 Tw -10.5259p)-1(r)8(o)-10(c)-5(e)-6(s)7(5)641> <</MCID 405nw -22.91.LO) y)35( y) fl(c)-5daw -22.91.LO>BDa3(r)11( f1( f1( fR85(P)-1(VTj
e Tc yy <</(2)2(l)-5(h)-f)(a)-3(n)-1!)(o)-10(W)1 f13iw 0.h1.046TcTwe/(2)2-5(Pd1.046TcTm)10( O)4(e)-6(r (c)1046Tf
1.Tj
 B1(e)-7(457 0gh)-17 0 Ts3S-80 Tw 8ee)-6()-3(ywee)-6(r g)617 0 Ta)-6(t.Tj
 ITj
 (2)2-5(Pd1.04g)61)-7()Tj
/TT5  i5(Pd1(i)-6( )11(vp)2(r)11(o)34.0e)-6(r)-30.004 Tc -0.004 Tw -10.526a)-3(n)10(v)-8(a)-3(s)-4(.)]- >>71)1)]TJ
0 Tc 06nw -22.91.LO) y)35( y) fl(c)-5daw -22.91.LO>BDa3(r)11( f1( f1( fR85(P)-1(ITj
 w6( )11(v.457 0i 0.8Tf
k)1 f13i8Tf
g)61(k300457 0i 0.)-3(ywa)-6()-3(yg)61)-j
/f13i8T(i)g)61(tTw 0.7b1(i)- d7 0i 0.f 0.f 0.ee)-6(r Tw 8.Tj
 W)1 6( )11S-83nTc 0.006td
(S)Td
( xh)-1e0 Tctf13i8Tf
g)61(k3004)-7( l)3E)-5(P) 0.8Tf
 .004 T( )Tj
/T Tw 0.4f
0.007()Tj
/l( )11(vp)2(r)11(o)34.07-3(i)-3(c)-5(k)5(s).004 Tw -10.526faile)8(1(r)17( )]TJ
0.002 Tc >>70)1


